# Periodic solutions and stability of a fifth order difference equation 

Erkan Taşdemir ${ }^{1}$ and Yüksel Soykan ${ }^{2}$<br>${ }^{1}$ Kırklareli University, Pınarhisar Vocational School, 39300, Kırklareli, Turkey<br>${ }^{2}$ Zonguldak Bülent Ecevit University, Department of Mathematics, Art and Science Faculty, 67100, Zonguldak, Turkey<br>E-mail: erkantasdemir@hotmail.com ${ }^{1}$, yuksel_soykan@hotmail.com ${ }^{2}$


#### Abstract

In this paper, we study the periodic solutions of difference equation $x_{n+1}=x_{n-2} x_{n-4}-1$, $n=0,1, \ldots$ where the initial conditions are real numbers. Moreover, we handle eventually periodic solutions with period two. We also investigate the stability of this difference equation.


2000 Mathematics Subject Classification. 39A10. 39A23, 39A30.
Keywords. difference equations, stability, periodicity.

## 1 Introduction

Difference equations or their systems have a huge interest among the researchers. This interest related to applications of these equations or systems. There are many applications of difference equations in many fields of science. There exist many articles related to our paper as follows:

In [8], Kent et al. studied the periodicity and boundedness of solutions of difference equation

$$
x_{n+1}=x_{n} x_{n-1}-1 .
$$

They also investigated long term behaviors of solutions of related difference equation. Furthermore, in [23], Wang et al. handled convergence of solutions of related difference equation. Moreover, in [11], Liu et al. studied some properties of solutions of related difference equation.

In [9], Kent et al. examined the boundedness and periodicity of solutions of difference equation

$$
x_{n+1}=x_{n-1} x_{n-2}-1
$$

In [10], Kent et al. studied the stability, periodicity and boundedness of solutions of difference equation

$$
x_{n+1}=x_{n} x_{n-2}-1 .
$$

In [7], Kent et al. handled the periodicity, asymptotic periodicity, unbounded solutions and local stability of difference equation

$$
x_{n+1}=x_{n} x_{n-3}-1 .
$$

In [18], Taşdemir et al. studied the stability, periodicity, bounded and unbounded solutions of the difference equation

$$
x_{n+1}=x_{n-1} x_{n-3}-1
$$

Moreover, in [19], the authors investigated convergence of negative equilibrium of related difference equation.

In [20], Taşdemir et al. considered the periodicity, asymptotic periodicity, stability of solutions of difference equation

$$
x_{n+1}=x_{n-2} x_{n-3}-1
$$

In [21], Taşdemir et al. handled the stability, periodicity and asymptotic periodic solutions of difference equation

$$
x_{n+1}=x_{n-1} x_{n-4}-1
$$

In [22], Taşdemir et al. investigated the periodicity, eventually periodicity and stability analysis of difference equation

$$
x_{n+1}=x_{n-3} x_{n-4}-1 .
$$

In this paper, we study the dynamics of solutions of the following difference equation

$$
\begin{equation*}
x_{n+1}=x_{n-2} x_{n-4}-1, n=0,1, \ldots \tag{1.1}
\end{equation*}
$$

where the initial conditions are real numbers. We especially investigate the stability and periodicity of solutions of difference equation (1.1). We also overcome the eventually periodic solutions with period two.

Note that, Eq.(1.1) be a member of the class of equations of the form

$$
\begin{equation*}
x_{n+1}=x_{n-l} x_{n-k}-1, n=0,1, \ldots \tag{1.2}
\end{equation*}
$$

with special choices of $l$ and k , where $k, l \in \mathbb{N}_{0}$ and $l<k$. In literature, there are many papers and books related to difference equations (see [1]-[23]).

Now, we present some important definitions and theorems.
Definition 1.1. Let $I$ be some interval of real numbers and let $f: I^{k+1} \rightarrow I$ be a continuously differentiable function. A difference equation of order $(k+1)$ is an equation of the form

$$
\begin{equation*}
x_{n+1}=f\left(x_{n}, x_{n-1}, \cdots, x_{n-k}\right), \quad n=0,1, \cdots \tag{1.3}
\end{equation*}
$$

A solution of Eq.(1.3) is a sequence $\left\{x_{n}\right\}_{n=-k}^{\infty}$ that satisfies Eq.(1.3) for all $n \geq-k$. As a special case of Eq.(1.3), for every set of initial conditions $x_{0}, x_{-1}, x_{-2}, x_{-3}, x_{-4} \in I$, the fifth order difference equation

$$
\begin{equation*}
x_{n+1}=f\left(x_{n}, x_{n-1}, x_{n-2}, x_{n-3}, x_{n-4}\right), \quad n=0,1, \cdots, \tag{1.4}
\end{equation*}
$$

has a unique solution $\left\{x_{n}\right\}_{n=-4}^{\infty}$.
Definition 1.2. A solution of Eq.(1.3) that is constant for all $n \geq-k$ is called an equilibrium solution of Eq.(1.3). If

$$
x_{n}=\bar{x}, \text { for all } n \geq-k
$$

is an equilibrium solution of Eq.(1.3), then $\bar{x}$ is called an equilibrium point, or simply an equilibrium of Eq.(1.3). So a point $\bar{x} \in I$ is called an equilibrium point of Eq.(1.3) if

$$
\bar{x}=f(\bar{x}, \bar{x}, \cdots, \bar{x}),
$$

that is,

$$
x_{n}=\bar{x} \text { for } n \geq-k
$$

is a solution of Eq.(1.3).

Definition 1.3. Suppose that the function $f$ is continuously differentiable in some open neighborhood of an equilibrium point $\bar{x}$. Let

$$
q_{i}=\frac{\partial f}{\partial u_{i}}(\bar{x}, \bar{x}, \cdots, \bar{x}), \text { for } i=0,1,2, \cdots, k
$$

denote the partial deriative of $f\left(u_{0}, u_{1}, \cdots, u_{k}\right)$ with respect to $u_{i}$ evaluated at the equilibrium point $\bar{x}$ of Eq.(1.3).

The equation

$$
\begin{equation*}
z_{n+1}=q_{0} z_{n}+q_{1} z_{n-1}+\cdots+q_{k} z_{n-k}, k=0,1, \cdots, \tag{1.5}
\end{equation*}
$$

is called the linearized equation of Eq.(1.3) about the equilibrium point $\bar{x}$.
Definition 1.4. The equation

$$
\begin{equation*}
\lambda^{k+1}-q_{0} \lambda^{k}-q_{1} \lambda^{k-1}-\cdots-q_{k-1} \lambda-q_{k}=0 \tag{1.6}
\end{equation*}
$$

is called the characteristic equation of Eq.(1.5) about $\bar{x}$.
Definition 1.5. Let $\bar{x}$ an equilibrium point of Eq.(1.3).
(a) An equilibrium point $\bar{x}$ of Eq.(1.3) is called locally stable if, for every $\varepsilon>0$; there exists $\delta>0$ such that if $\left\{x_{n}\right\}_{n=-k}^{\infty}$ is a solution of Eq.(1.3) with

$$
\left|x_{-k}-\bar{x}\right|+\left|x_{1-k}-\bar{x}\right|+\cdots+\left|x_{0}-\bar{x}\right|<\delta
$$

then

$$
\left|x_{n}-\bar{x}\right|<\varepsilon, \text { for all } n \geq-k .
$$

(b) An equilibrium point $\bar{x}$ of Eq.(1.3) is called locally asymptotically stable if, it is locally stable, and if in addition there exists $\gamma>0$ such that if $\left\{x_{n}\right\}_{n=-k}^{\infty}$ is a solution of Eq.(1.3) with

$$
\left|x_{-k}-\bar{x}\right|+\left|x_{-k+1}-\bar{x}\right|+\cdots+\left|x_{0}-\bar{x}\right|<\gamma,
$$

then we have

$$
\lim _{n \rightarrow \infty} x_{n}=\bar{x}
$$

(c) An equilibrium point $\bar{x}$ of Eq.(1.3) is called a global attractor if, for every solution $\left\{x_{n}\right\}_{n=-k}^{\infty}$ of Eq.( 1.3), we have

$$
\lim _{n \rightarrow \infty} x_{n}=\bar{x}
$$

(d) An equilibrium point $\bar{x}$ of Eq.(1.3) is called globally asymptotically stable if it is locally stable, and a global attractor.
(e) An equilibrium point $\bar{x}$ of Eq.(1.3) is called unstable if it is not locally stable.

Theorem 1.6. Assume that the function $F$ is a continuously differentiable function defined on some open neighborhood of an equilibrium point $\bar{x}$. Then the following statements are true:
(a) When all the roots of Eq.(1.6) have absolute value less than one, then the equilibrium point $\bar{x}$ of Eq.(1.3) is locally asymptotically stable. Moreover, in this here the equilibrium point $\bar{x}$ of Eq.(1.3) is called sink.
(b) If at least one root of Eq.(2.3) has absolute value greater than one, then the equilibrium point $\bar{x}$ of Eq.(1.3) is unstable.

Definition 1.7. A solution $\left\{x_{n}\right\}_{n=-k}^{\infty}$ of Eq.(1.3) is called periodic with period $p$ if there exists an integer $p \geq 1$ such that

$$
x_{n+p}=x_{n}, \text { for all } n \geq-k
$$

## 2 Stability analysis of Eq.(1.1)

In this section, we find the equilibrium points of Eq.(1.1). Then, we examine the characteristic equation of Eq.(1.1). Lastly, we investigate the stability of Eq.(1.1).

Lemma 2.1. There are two equilibrium points of Eq.(1.1), namely,

$$
\begin{equation*}
\bar{x}_{1}=\frac{1+\sqrt{5}}{2}, \bar{x}_{2}=\frac{1-\sqrt{5}}{2} . \tag{2.1}
\end{equation*}
$$

Proof. Let $x_{n}=\bar{x}$ for all $n \geq-4$. Therefore, we get from Eq.(1.1)

$$
\bar{x}=\bar{x} \cdot \bar{x}-1 .
$$

Q.E.D.

Lemma 2.2. Assume that $\bar{x}$ is an equilibrium point of Eq.(1.1). Hence the linearized equation of Eq.(1.1) is

$$
\begin{equation*}
z_{n+1}-\bar{x} \cdot z_{n-2}-\bar{x} \cdot z_{n-4}=0 \tag{2.2}
\end{equation*}
$$

Proof. Let $I$ be some interval of real numbers and let $f: I^{5} \rightarrow I$ be a continuously differentiable function such that $f$ is defined by

$$
f\left(x_{n}, x_{n-1}, x_{n-2}, x_{n-3}, x_{n-4}\right)=x_{n-2} x_{n-4}-1 .
$$

Then, we obtain the followings:

$$
\begin{gathered}
q_{0}=\frac{\partial f}{\partial x_{n}}(\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=[0](\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=0, \\
q_{1}=\frac{\partial f}{\partial x_{n-1}}(\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=\left[x_{n-4}\right](\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=0, \\
q_{2}=\frac{\partial f}{\partial x_{n-2}}(\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=[0](\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=\bar{x}, \\
q_{3}=\frac{\partial f}{\partial x_{n-3}}(\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=[0](\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=0, \\
q_{4}=\frac{\partial f}{\partial x_{n-4}}(\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=\left[x_{n-1}\right](\bar{x}, \bar{x}, \bar{x}, \bar{x}, \bar{x})=\bar{x} .
\end{gathered}
$$

Therefore, the linearized equation associated with Eq.(1.1) about the equilibrium point $\bar{x}$ is

$$
z_{n+1}=q_{0} \cdot z_{n}+q_{1} \cdot z_{n-1}+q_{2} \cdot z_{n-2}+q_{3} \cdot z_{n-3}+q_{4} \cdot z_{n-4}
$$

and so $z_{n+1}-\bar{x} \cdot z_{n-2}-\bar{x} \cdot z_{n-4}=0$.
Q.E.D.

Lemma 2.3. The characteristic equation of Eq.(1.1) about its equilibrium point $\bar{x}$ is

$$
\begin{equation*}
\lambda^{5}-\bar{x} \cdot \lambda^{2}-\bar{x}=0 \tag{2.3}
\end{equation*}
$$

Now, we examine the stability of equilibrium points of Eq.(1.1).
Theorem 2.4. The positive equilibrium $\bar{x}_{1}$ of Eq.(1.1) is unstable.
Proof. We take (2.3) with $\bar{x}_{1}=\frac{1+\sqrt{5}}{2}$. Then, we get the following characteristic equation

$$
\begin{equation*}
\lambda^{5}-\left(\frac{1+\sqrt{5}}{2}\right) \lambda^{2}-\left(\frac{1+\sqrt{5}}{2}\right)=0 . \tag{2.4}
\end{equation*}
$$

Thus, we obtain five roots of (2.4) as follows:

$$
\begin{aligned}
\lambda_{1} & \approx 1.35669 \\
\lambda_{2,3} & \approx-0.817695 \pm 0.913305 i \\
\lambda_{4,5} & \approx 0.139352 \pm 0.879896 i
\end{aligned}
$$

Hence, we have,

$$
\left|\lambda_{1}\right|>\left|\lambda_{2,3}\right|>1>\left|\lambda_{4,5}\right| .
$$

Consequently, the equilibrium $\bar{x}_{1}$ of Eq.(1.1) is unstable.
Q.E.D.

Theorem 2.5. The negative equilibrium $\bar{x}_{2}$ of Eq.(1.1) is unstable.
Proof. We consider (2.3) with $\bar{x}_{2}=\frac{1-\sqrt{5}}{2}$. Then, we obtain the following characteristic equation

$$
\begin{equation*}
\lambda^{5}-\left(\frac{1-\sqrt{5}}{2}\right) \lambda^{2}-\left(\frac{1-\sqrt{5}}{2}\right)=0 . \tag{2.5}
\end{equation*}
$$

Hence, we have five roots of (2.5) as follows:

$$
\begin{aligned}
\lambda_{1} & \approx-1.054797 \\
\lambda_{2,3} & \approx-0.163078 \pm 0.772937 i \\
\lambda_{4,5} & \approx 0.690472 \pm 0.679856 i
\end{aligned}
$$

Therefore, we get

$$
\left|\lambda_{1}\right|>1>\left|\lambda_{2,3}\right|>\left|\lambda_{4,5}\right| .
$$

So, the equilibrium $\bar{x}_{2}$ of Eq.(1.1) is unstable.

## 3 Periodic solutions of Eq.(1.1)

Now, we study the periodic solutions of Eq.(1.1) with period two and three.
Theorem 3.1. There are two periodic solutions of Eq.(1.1).
Proof. Let $a, b$ be real numbers with $a \neq b$. Suppose that $\left\{x_{2 n}\right\}_{n=-2}^{\infty}=a$ and $\left\{x_{2 n-1}\right\}_{n=-1}^{\infty}=b$. Then, from Eq.(1.1), we obtain

$$
\begin{align*}
b & =a^{2}-1  \tag{3.1}\\
a & =b^{2}-1 \tag{3.2}
\end{align*}
$$

From (3.1) and (3.2), we have the following four cases:

$$
\begin{aligned}
\text { Case } i . a & =b=\bar{x}_{1}, \\
\text { Case ii. } a & =b=\bar{x}_{2}, \\
\text { Case iii. } a & =0, b=-1, \\
\text { Case iv. } a & =-1, b=0 .
\end{aligned}
$$

Since the cases $i$. and $i i$. are trivial solutions, they are not periodic solutions. Other two cases are periodic solutions with period two.
Q.E.D.

Theorem 3.2. Eq.(1.1) has eventually two periodic solutions as following forms:
Case i. $\left\{x_{n}\right\}_{n=-4}^{\infty}=\left\{\cdots, x_{N}, x_{N+1}, x_{N+2}, x_{N+3}, x_{N+4}, 0,-1,0,-1, \cdots\right\}$, where $x_{N+2} x_{N}=1$, $x_{N+3} x_{N+1}=0$ and $x_{N+4} x_{N+2}=1$.
Case ii. $\left\{x_{n}\right\}_{n=-4}^{\infty}=\left\{\cdots, x_{N}, x_{N+1}, x_{N+2}, x_{N+3}, x_{N+4},-1,0,-1,0, \cdots\right\}$, where $x_{N+2} x_{N}=0$, $x_{N+4} x_{N+2}=0$ and $x_{N+3}=x_{N+1}=-1$.

Proof. Firstly, we consider proof of Case i. Let $\left\{x_{n}\right\}_{n=-4}^{\infty}$ be a eventually two periodic solution of Eq.(1.1). Hence, we have $x_{N+5}=0, x_{N+6}=-1, x_{N+7}=0$ and $x_{N+8}=0$. Thus, we obtain the followings:

$$
\begin{aligned}
x_{N+5} & =x_{N+2} x_{N}-1=0 \Rightarrow x_{N+2} x_{N}=1, \\
x_{N+6} & =x_{N+3} x_{N+1}-1=-1 \Rightarrow x_{N+3} x_{N+1}=0, \\
x_{N+7} & =x_{N+4} x_{N+2}-1=0 \Rightarrow x_{N+4} x_{N+2}=1, \\
x_{N+8} & =x_{N+5} x_{N+3}-1=-1 \Rightarrow x_{N+5} x_{N+3}=0 .
\end{aligned}
$$

This completes the proof of Case i. The proof of Case ii is similar to proof of Case i.
Q.E.D.

Theorem 3.3. There are no three periodic solutions of Eq.(1.1).
Proof. Proof. Let $a, b, c$ be real numbers such that at least two of them are different. Assume that $\left\{x_{3 n}\right\}_{n=-1}^{\infty}=a,\left\{x_{3 n-1}\right\}_{n=-1}^{\infty}=b$ and $\left\{x_{3 n-2}\right\}_{n=0}^{\infty}=c$. Then, from Eq.(1.1), we get

$$
\begin{align*}
a & =a \cdot c-1  \tag{3.3}\\
b & =b \cdot a-1  \tag{3.4}\\
c & =c \cdot b-1 \tag{3.5}
\end{align*}
$$

From (3.3) - (3.5), we have the following two cases:

$$
\begin{align*}
\text { Case i. } a & =b=c=\bar{x}_{1},  \tag{3.6}\\
\text { Case ii. } a & =b=c=\bar{x}_{2} . \tag{3.7}
\end{align*}
$$

Then, (3.6) and (3.7) are not three periodic solutions, because these are trivial solutions of Eq.(1.1). This completes the proof.

## 4 Numerical simulations

In this section, we present two numerical examples which verifies our theoretical results.
Example 4.1. Consider Eq.(1.1) with the initial conditions $x_{-4}=-1, x_{-3}=0, x_{-2}=-1$, $x_{-1}=0$ and $x_{0}=-1$. Then Eq.(1.1) has two periodic solution. The Figure 1 shows the first 80 terms of Eq.(1.1).


Figure 1. Plot of Eq.(1.1).
Example 4.2. Consider Eq.(1.1) with the initial conditions $x_{-4}=-\frac{15}{112}, x_{-3}=\frac{1}{4}, x_{-2}=\frac{28}{3}$, $x_{-1}=12$ and $x_{0}=\frac{3}{4}$. Then Eq.(1.1) has the eventually periodic solution with period two. The Figure 2 shows the first 80 terms of Eq.(1.1).


Figure 2. Plot of Eq.(1.1).

## References

[1] R. Abazari, K. Yildirim, Numerical study of Sivashinsky equation using a splitting scheme based on Crank-Nicolson method. Math. Meth. Appl. Sci. 42 (2019) 5509-5521.
[2] R.P. Agarwal and J. Popenda, Periodic solutions of first order linear difference equations, Math. Comput. Modelling, 22(1) (1995) 11-19.
[3] R.P. Agarwal and P.J. Wong, Advanced topics in difference equations (Vol. 404), Springer Science \& Business Media (2013).
[4] S. Elaydi, An Introduction to Difference Equations, Springer-Verlag, New York (1996).
[5] M. Göcen and M. Güneysu, The global attractivity of some rational difference equations, J. Comput. Anal. Appl. 25(7) (2018) 1233-1243.
[6] M. Göcen and A. Cebeci, On the Periodic Solutions of Some Systems of Higher Order Difference Equations, Rocky Mountain J. Math. 48(3) (2018) 845-858.
[7] C.M. Kent and W. Kosmala, On the Nature of Solutions of the Difference Equation $x_{-}(n+1)=x_{-} n x_{-}(n-3)-1$, IJNAA 2(2) (2011) 24-43.
[8] C.M. Kent, W. Kosmala, M.A. Radin and S. Stevic, Solutions of the difference equation $x_{-}(n+1)=x_{-} n x_{-}(n-1)-1$, Abstr. Appl. Anal. 2010 (2010) 1-13.
[9] C.M. Kent, W. Kosmala and S. Stevic, Long-term behavior of solutions of the difference equation $x_{-}(n+1)=x_{-}(n-1) x_{-}(n-2)-1$, Abstr. Appl. Anal. 2010 (2010) 1-17.
[10] C.M. Kent, W. Kosmala and S. Stevic, On the difference equation $x_{-}(n+1)=x \_n x_{-}(n-2)-1$, Abstr. Appl. Anal. 2011 (2011) 1-15.
[11] K. Liu, P. Li, F. Han and W. Zhong, Behavior of the Difference Equations $x_{-}(n+1)=x_{\_} n x_{-}(n-$ 1)-1, J. Comput. Anal. Appl. 22(1) (2017) 1361-1370.
[12] K. Yıldırım, B. İbiş, M. Bayram, New solutions of the nonlinear Fisher type equations by the reduced differential transform. Nonlinear Sci. Lett. A 3(1) (2012) 29-36.
[13] K. Yildirim, M. Bayram, Approximates Method for Solving an Elasticity Problem of Settled of the Elastic Ground with Variable Coefficients. Appl. Math. Info. Science 7(4) (2013) 1351-1357.
[14] İ. Okumus and Y. Soykan, Dynamical Behavior of a System of Three Dimensional nonlinear Difference Equations, Adv. Difference Equ. 2018(223) (2018) 1-15.
[15] S. Stevic, Asymptotics of some classes of higher-order difference equations, Discrete Dyn. Nat. Soc. 2007 (2007) 1-20.
[16] S. Stevic, J. Diblik, B. Iricanin and Z. Smarda, Solvability of nonlinear difference equations of fourth order, Electron. J. Differential Equations 264 (2014) 1-14.
[17] E. Taşdemir and Y. Soykan, On the Periodicies of the Difference Equation $x_{-}(n+1)=x_{\_} n x_{-}(n-$ 1) $+a$, Karaelmas Sci. Eng. J. 6(2) (2016) 329-333.
[18] E. Taşdemir and Y. Soykan, Long-Term Behavior of Solutions of the Non- Linear Difference Equation $x_{-}(n+1)=x_{-}(n-1) x_{-}(n-3)-1$, Gen. Math. Notes 38(1) (2017) 13-31.
[19] E. Taşdemir and Y. Soykan, Stability of Negative Equilibrium of a Non-Linear Difference Equation, J. Math. Sci. Adv. Appl. 49(1) (2018) 51-57.
[20] E. Taşdemir and Y. Soykan, Dynamical Analysis of a Non-Linear Difference Equation, J. Comput. Anal. Appl. 26(2) (2019) 288-301.
[21] E. Taşdemir, On the Asymptotically Periodic Solutions Of A Fifth Order Difference Equation, Journal of Mathematical Analysis 10(3) (2019) 100-111.
[22] E. Taşdemir, On the Dynamics of a Nonlinear Difference Equation, Adıyaman University Journal of Science 9(1) (2019) 190-201.
[23] Y. Wang, Y. Luo and Z. Lu, Convergence of solutions of $x_{-}(n+1)=x_{-} n x_{-}(n-1)-1$, Appl. Math. E-Notes 12 (2012) 153-157.

